1,0 1,5 10,0 12,0 15,0 20,0 25,0

1,13 096 077 058 046 0,38
1,50 1,28 1,02 077 061 0,51
1,88 1,60 1,28 096 0,77 0,64

1,30 1,19 1,02 0,77 0,61 0,51
1,73 1,568 137 1,02 0,82 0,68
217 198 171 128 1,02 0,85
260 237 205 154 123 1,02

145 133 1,19 09 0,77 0,64
194 1,77 158 128 1,02 0,85
242 221 198 160 128 1,07
291 265 237 192 154 128

212 1,94 173 1,50 1,23 1,02
265 242 217 188 154 1,28
318 291 260 225 184 1,54
371 339 303 263 215 179

287 262 234 203 1,79 1,49
4,01 366 328 284 251 209
516 4,71 421 3,65 323 2,69

306 280 250 217 1,94 1,71
429 392 350 3,03 2,71 239
551 5,03 450 39 3,49 3,07
6,13 559 500 4,33 3,88 3,41
LN 18,40 16,07 14,60 1356 12,76 11,59 10,40 9,49 8,79 822 7,75 735 6,71 6,00 520 465 4,10

18 20 B 697 633 587 553 502 460 420 388 3,63 343 325 297 265 230 206 1,88
sy 1276 11,14 10,13 940 885 804 735 671 621 581 548 520 4,75 425 368 3,29 3,00
RO 1595 1393 1266 11,75 11,06 10,05 9,19 839 7,77 727 685 650 593 531 460 4,11 375
aERIEE 1914 16,72 1519 14,10 1327 1205 11,08 10,07 9,32 872 822 780 7,12 637 551 493 450

20 20 EEE:Fl 721 655 608 573 520 483 442 409 3,83 361 343 3,13 280 242 2,17 1,95
PRy 1321 11,54 1049 9,74 9,16 832 7,73 708 655 6,13 578 548 500 4,47 3,88 3,47 3,16
PR N 1652 14,43 13,11 12,17 11,45 1040 966 884 819 766 7,22 6,85 6,25 559 484 4,33 3,96
PR 1952 17,31 1573 14,60 13,74 1249 1159 1061 9,83 9,19 8,67 822 750 6,71 581 520 4,75
PRGN 2477 2164 1966 1825 17,18 1561 14,49 1327 1228 11,49 10,83 10,28 9,38 839 7,27 6,50 5,93

example: length of beam 6,2 m; stress of project = 3,5 kN/gm; beam distance 2,5 m => q = 3,5 kN/gm x 2,5 m = 8,75 kN/m, rounded off q = 9,0 kN/m.
In the above table with the according column of stress (in this case q = 9,0 kN/m the first passage is used if the length of 6,2m and the cross-section of 16x40 is available



